<mod> ::= <mtransitions>
<mtransitions> ::=
<mtransition> | <mtransitions> <mtransition>
<mtransition> ::=
mtransition mType transitionId
sourceStateIndex destinationStatelIndex

<procedureCall>

<requirement>
<requirement> ::=

[<input>]

[<enablingPredicate>]

/

[<actions>]
<actions> ::=

<action> | <actions> <action>
<action> ::=

<output> | <assignment> | <set> | <reset> |
<input> ::=

inputId ( [<parameters>] )
<output> ::=

outputId ( [<parameters>] )
<enablingPredicate> ::=

<variableIds> [/* booleanExpression */]
<assignment> ::=

<variableId> := <expression>
<set> ::=

set ( constant , timerId )
<reset> ::=

reset ( timerId )
procedureCall ::=

procedure ( procedureld ( <variableIds> [; <variableIds>]

) ) { <pbrDefs> }
<parameters> ::=

<parameter> {, <parameter>}*
<parameter> ::=

<variableId> | constant
<variableIds> ::=

<variableId> {, <variableId>}*
<pbrDefs> ::=

<pbrDef> | <pbrDefs> <pbrDef>
<pbrDef> ::=

<variableId> := <expression> ;
<expression> ::=

function ( <variableIds> ) | constant
<variableId> ::=

id
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print(b)
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